1 atmosfera
1 bar
1 kgi/cm®
11by/pulg.®
1 mmHg
1 pascal (SI)
1 pulg.H,0

atm.

bar

kgi/cm®

Tabla de equivalencias de presién

Ib/pulg.’ mmHg pascal (SI)  pulg. H,0
1 1,01325 1,03323 14,696 760 1,01325E+5| 406,782
0,986923 1 1,01972 14,5038 750,064 1,0E+5 401,463
0,967841 0.980665 1 14,2233 735,561 9,80665 E+4 | 393,701
6,8046 E-2 6,8948 E-2 7,03E-02 1 51,7151 6894,76 27,6799
1,3158 E-3 1,3332E-3 1,3595 E-3 1,9337E-2 1 133,322 | 0,535239
9,8692 E-6 1,0E-5 1,0197E-5 1,4504 E-4 7,5006 E-3 1 4,0146 E-3
2,4583 E-3 2,4509 E-3 2,5400 E-3 3,6127E-2 1,86833 249,089 1
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